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The ACF is a very popular model to explain how public poli
cy 1s enacted in a pluralistic democracy. Yet Paul A. Sabatie
r and Christopher M. Weible were not quite satisfied with th
e explanation power of the 1998 model, which was devised b
y Sabatier and Jenkins-Smith. Therefore they revised the m
odel in 2005 and proposed several important changes in the
new model. Please compare the two models and explain wh
at are changed and why, and apply the model to explain wha
t has happened in Taiwan’s society so that the controversial s

ame-sex marriage law was passed on May 17 2019.




